Exam 1

Tinear Algebra, Dave Baver, October 5, 2000
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Please worlz only one problem per page, starling wich the pages provided, and numbor
all continuations clearly. Only work which can be found in this way will be praded.

Please do not use calenlators or decimal notation.

[1] Solve the ollowing syslem of conations:
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[2] Express the following matrix as a product of clementary matrices:

07 |
0-:0 | 65 ¢ z
¥ |
D ,leo]_‘é_ {'KE";’ {1}
@jﬁ?-é@[gé? O=0-46 gg,r,) 0 46 1
o wAfe mvevde eQ-QWMM Ma[_\\_ﬂ_fES 1o eqth slef
- g—i c-{ Dﬂ E*l Fr} -
E=

ﬁ;\— 1Y O
\ | "0"3(.1091('0?0]
/\ELI | K KK ‘1}&%10{7 5o tieol ]

' T s ' 314.}1 “.
rereVSl YW re)udwo, ﬁdh"'} ot )
— I |

one 'IW_/;\_/—\«-—/W_/

7 L)\

= %fz_\
o7 -
P

Pape 3 Continued on pag@/



Problem: .

Here 15 andfnar wog 4 QWMHT 6‘ d &, postponés dwiding
sa oMWV stwy e

7\ Z 11 AR R y RN, 210 200 1 00
[Uw] = “11]_5{0101#7[010]’7{01&1 2516 c?&lo)
po | 0o | 0oy Do | 00| D)

007
B-16 ©-66 6-086 -3 (0=0-0 030
(% C

S

R NN 5 G )
o) (] G e

Gnswen”
L/_\(\ [fu
D2
o0

'Za
02
0o

:ﬂ@,

Pape 4 i
B Continucd on page:




[3] Compute the determinant of the following 4 x 4 matrix:
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What can von say aboul the determinant. of Lhe w0 maleix with the same pattern?
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[4] Using Cramer’s rule, find ¢ satizlving the following svsiem ol conations:
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[5] Give a formula [or vhe matrix which is inverse (o
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